MATH 280 — QUIZ #5 Name: e

7

Directions: Please show all work for maximum credit. This quiz is worth 14 points. Good
luck!

(3 points) 1. Find the volume of the region cut from the solid sphere p <3 by the half-planes
=0 and 6 = /6 in the first octant.
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(3 points) 2. Given u=x+2y and v=x—y. Find the Jacobian, 5(x.5)
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(3 points) 3. Evaluate j(x— y+2—2)ds where C is the straight-line segment from (0,0,1) to
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(3 points) 4. Find the work done by the field F = yi +x around the circle
F(t)= (cost)f+(sint)}' ,0<1<2x.
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(4 points) 5. Given that the following field F= 2xyf +(x2 -z )j ~2 yzle is conservative. Find a
potential function ffor the field.
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